VIVIA

1194_82031

//
/
//

N

/



750x300x12MM | x4 212

B | R

M8x30 X8 112

D Q8 M8 X8 112

E Q) o8x18 X32 | AR

M8x25 x16 112

X8 112

M5 X1 112

@8x18 x16 12

M5 X1 112

Q)
1 @ 2000x100070MM| X1 T

FR : SAV/IINFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT
ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO
PT: SERVICO POS-VENDA/INFORMAGOES/VIDEO/CONTATO
PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT
HE: 2xn wnim m>im/n1y /A ri/fnpen yo




/’/

R

/9],
T
7

/
/) N
=N

—/

A/

0\‘? &
Y

0 V‘A
Vo
V¥
\




	1
	2
	DT-4130-1-布局3

